
a
b

c

e

f

Ref Item Description Product Code Quantity

a

S
u

p
p

lie
d

 F
it

te
d

 &
 F

ix
ed

Earth Cable, Earth Screws & 

Washers

Earth Cable: EARTHWIRE-175mm

Earth Screws: M5x4-PH

Washers: WASHER-M5x2BA

Earth Cable: 2x

Earth Screws: 4x

Washers: 4x

Per Floor Box

b
Height Adjustment Bolts & 

Lock Nuts

65mm Base: M8x45-CH

85mm Base: M8x65-CH

120mm Base: M8x80-CH

Lock Nut: NUT-M8

Adjustment Bolts: 4x

Lock Nuts: 4x

Per Floor Box

c Base & Frame Fixing Screw

65mm Base: M5x20-POZI

85mm Base: M5x40-POZI

120mm Base: M5x40-POZI

2x Per Floor Box

d Cable Guide 500-CABLE-GUIDE
1 & 2 Compartment Floor Boxes: 1x

3 & 4 Compartment Floor Boxes: 2x

e

S
u

p
p

lie
d

B
ag

g
ed Counter Sunk Lid to Frame 

Fixing Screws
M5x10-CS16 4x Per Floor Box

f Outlet Plate Fixing Screws M5x6-PH 2x Per Outlet Plate

SMALL PARTS BREAK DOWN LIST

© 2020 by Cableduct Limited

ALL SMALL PARTS ARE AVAILABLE FOR INDIVIDUAL ORDER.

d

INSTALLATION MANUAL
Minima/700 Series

2


